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QUESTION 1

Restaurant customers tip their server only 8 percent for poor service. If their tip was $3.70, how much was their bill?
A. $46.25

B. $44.60

C. $40.15

D. $50.45

Correct Answer: A

QUESTION 2

Express this number as a percentage: 9/40.
A. 0.0225%

B. 22.5%

C. 0.225%

D. 2.25%

Correct Answer: B

QUESTION 3

Brad plans to leave instructions with his broker to sell all of his shares in a particular company if the value of its stock
rises more than 10% above the current price, but to purchase additional shares if the stock\\'s value falls more than 10%
below its present value. The stock is currently selling for $73.50 a share.

Which expression represents the interval, n, between which the broker should neither buy nor sell any shares of the
company\\'s stock for Brad?

A. 69.83
B. 73.60
C.66.15

D. 63.50

Correct Answer: C

QUESTION 4
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Express 85% as a fraction in its simplest form.
A. 17/20

B. 8/5

C. 17/200

D. 5/8

Correct Answer: A

QUESTION 5

What is the value of a in this equation? 6a/5 - 2a/2 = 1/2
A. 2/5

B.5

C. 20/4

D. 5/2

Correct Answer: D
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